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In order to fit the gluonium we  use our measurement of 
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These parameters 
multiply  the 
gluonium component

We took them from a fit to the same quantities + further 
constraints without assuming gluonium content 



  

Differences between Escribano and our fit

All theoretical parameters 
are left free

EscribanoOur fit

Only
p 
and Z2 are left free

The ratios of 's are used in 
the fit.

The 's are used in the fit.

4 measured quantities are 
used in the fit

11 measured quantities are 
used in the fit

DATA from PDG '06 +
KLOE R'07

DATA from PDG '06
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Not included in GM fit- now we fit also them
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and C
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KLOE PAPER CONSTRAINTS



  

 '

 
0


=
1
9 m '

m


3

5X '2
f q
f s
Y ' 

2

 '

 
0


=
C NS

cosV
⋅3m '

2
−m

2m

m
2
−m

2 m '


3

X '
2

 '

 
0


=
1
3 m '

2
−m

2 m

m

2
−m

2m '


3

[C NSX '2
ms
m
C s⋅tanV⋅Y  ' ]

2

Not enough 
constraint to 
leave free 
C

NS 
and C

S

We added to the fit (GM status):
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The Method

Full covariance 
matrix (correlation 
comes from the 
constrained fit to ' 
Br)

Re-evaluated at 
each 
minimization step

Experimental 
covariance matrix 

Theoretical parameters 
covariance matrix



  

The Method

Full covariance 
matrix (correlation 
comes from the 
constrained fit to ' 
Br)

Re-evaluated at 
each 
minimization step

Experimental 
covariance matrix 

Theoretical parameters 
covariance matrix

Fitted parameter in 
this fit.



  

The experimental covariance matrix B contains 
correlation among common used quantities in the fitted 
relations:
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Fit quality



  

Fit result

Fit 9 points with 6 parameters 2 = 1.41/3 P( 2 ) = 70%
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Fit result – imposing Z2
G
 = 0

Fit 9 points with 5 parameters 2 = 12.9/4 P( 2 ) = 1%
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Fit result- no  ' 
Fit 8 points with 6 parameters 2 = 0.94/2 P( 2 ) = 70%
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Something strange in Escribano fit

The extrapolated error is 6 times the input 
from DATA



  

Fit increasing by a factor 12 the error on R
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Conclusions

1) Write to Escribano asking for explanations 
(exactly know how the fit is done)

2) Write a draft 


